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Quiz Sample data Calculations ¥
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Figure 1

Answer the following

1. The least-squares regression line given above is saidto be a lins which "hest it the sample data
The term "hest it is used because the line has an equation that minimizes the

? [=]. which forthese datais [

2. Forthe data point (225.3, 308.1), the value of he residual is [] . (Round your answer to at least 2
decimal places)

3. The ttalvariaion i the sarmpl yvaluss fs gwen by e[ IS which or
ese vatals[ =]

4. Thevalue 7 isthe proportion of the total variation in the sample yvalues that is explained by the

2
estimated linear relationship between xand y. Forthese data, the value of 7~ is[] . (Round your
answerto atleast 2 decimal places)
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